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EXERCISE 29.2 PAGE NO: 29.18

Evaluate the following limits:
. X" +1

lim

1. x-1 x+1

Solution:
Given:
. xT+1
lim
=l v+
Let us substitute the value of x directly in the given limit, we get
. xT+1 2
lim _ U+l
-1 x+1 1+1
=2/2
=1
~ The value of the given limit is 1.
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Solution:
Given:
o
lim —

=0 x" +3x+2
Let us substitute the value of x directly in the given limit, we get

fim 2X"+3x+4  _ 2(02) +3(0) + 4
x=0 x? +3x+2 02 +3(0) + 2
=4/2
=2
* The value of the given limit is 2.
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3 lim — —
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Solution:
Given:
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lim N2xX+3

x—=3 X+3
Let us substitute the value ofx directly in the given limit, we get

N2x+3  \2(3)+3

lim

=3 X+3 343
=4o/6
=3/6
=1/2

~ The value of the given limitis 1/2.
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Solution:

Given:
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x—sl

Let us substitute the value of x directly in the given limit, we get
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v
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=3
* The value of the given limitis 3.

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

BYJ U'S RD Sharma Solutions for Class 11 Maths
m Chapter 29 — Limits

The Learning App

]jm—\/;_\/E

5. x=a X +a
Solution:
Givern:

]jm—\/;_\g

X—a X L3

Let us substitute the value of x directly in the given limit. we get
. X +4/a

L (RN

=3 X +a a+a

2y/a

2a
1

A

. The value of the given limitis 1/Va.
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